4.3 Proving and Applying The SAS and SSS Congruence
Criteria

Monday, September 23, 2019 7:46 AM

WARM UP
Map the following Triangles from their f\)reimages to their primes.
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ESSENTIAL QUESTION

How are SAS and SSS used to show that two triangles are congruent?

NEEDED VOCAB: GoAL: 'l cAN...

> Side Angle Side Use SAS and SSS to determine
> Side Side Side whether triangles are

> CPCTC congruent.”

With the people next to you, take two pencils (or Pens) and place them together
so that the end of one is touching the end of the other creating an angle.
Without changing the angle how many different lengths are there between the
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other two end points.

Example:
/‘\

Side-Angle-Side (SAS) Congruence Criterion

If two sides and the included angle If... 3 X
of one triangle are congruent to
two sides and the included angle

R T

of another triangle, then the two

triangles are congruent.
Then... ARST = AXYZ

PROOF: SEE EXAMPLE 1.
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Corresponding Parts of Congruent Triangles are Congruent (CPCTC)

If two triangles are congruent,
then each pair of corresponding
sides is congruent and each pair of

corresponding angles is congruent.

PROOF: 5EE EAERCISE 13,

if... NABC = AXYZ
B X

Then... AB= XY, BC=YZ AC = XZ,
FA=sX 2B= Y, and £C= 22,

ExXAMPLE 1

Allie cuts two triangles from a

rectangular piece of metal along the
dashed line to make earrings. How
can Allie show that the earrings are

the same size and shape?

2. Given that AB || CD and AB = CD, how can

you show that £ZB = 2D?
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yvou show that LB = L7

With the people next to you place 3 pens/pencils end to end and see how many
different triangles you can make with those 3 and only those 3.

Example:
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Side-Side-Side (55S) Congruence Criterion

If three sides of one triangle are If... B
; F H D
congruent to three sides of another
triangle, then the two triangles are
congruent. A t C
E
PROOF: SEE EXAMPLE 3. Then... HABC = ADEF

A. Which of the following pairs are congruent by SAS or 5557

1l

—
g

B. What additional information is needed to

show /AABC =~ /A DEF by SAS? By 5557 B F \/[ E

Topic 4 Triangle Congruence Page 5




B. What additional information is needed to

show AABC =~ /A DEF by SAS? By 5557

4.a.ls /ASTU congruent to AXY Z7 Explain.
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4. b. Is any additional information needed to show /ADEF = /AGHJ by

SAS? Explain.

Triangle Congruence Criteria

L2 HA RSB Side-Angle-Side (SAS)
If... B D V F
AB = DE, BC = EF, and #B = +E
Then... AABC = AMDEF

L e l13 RSy Side-Side-Side (555)
If-u K M WP
J % L N

JK = MN, JL = MP, and KL = NP
Then... A JKL = AMNP

HOMEWORK
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PG. 172
14, 19, 20-24. 26, 27
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